2016 1

«22
266100
. @
6  H,0.H,S; 0
co, O 0 .
1. ) o
PO :5+0x4+3 =8 NH :5+1x4-1=8.
2. @ 2 ;
1. : 9 5,
3. ®
o = +
4.AB, A - ) /2
° PO; " = 5+0-
. (-3 /2=4;NH,: =(5+1x
1. 3) /2 =4.
(1) (2)
@ A
( 1)
CClL:4 +1x4=8
> (2) H, PO, H, AsO,
H* H, PO,
—OH H, AsO, .
O ) N
5 X0, (OH) . (1)
m m o
HCIO, m=4-1=3 H,Se0, m=3-2=
( 1), 1 H,BO, m=3-3=0 H,PO, m=4-3
I =1 HCIO, .
(2) H, PO,
HO HO HO (6] 1
Cl—OH \p/ \s/ \(31 H. AsO 0 |
HO/ OH HO/ \0 O/ \O B i
0 1 2 3 (1) A
HO O  HO
NS N
(1) (). 20 P @ A
A. HCIO, B. H,Se0, HO H  HO OH
C. H,BO, D. H,PO, ( 12015 -10-15)



2016 1

2 3 4 5

(3)

(4)

1 1
> > -
> >

(5)

o :NF; <NH;. (

0)
o NH, >PH,; H,0 > H,S,
2.
(1) AB,
o 2,
2

AB,

n=2 €0, .CS,BeCl,
n=3 BF; S0,
n=4 CH,.SiH, \NH,

(2)
H,0  NH;

«23 e
4 H,0
“V” NH3
1
( ) o
A.CH, B.PH, C.H,0 D.CO,
3,
3
CH, 4 0
PH; 4 1
H,0 4 2 v
Co, 2 0
CA
2
( \ .
) : AIC1,H,S.SO;" \NH; «
NO, -IF,.
4,
4
BF, H,S S0?~ NH,S NO, IF,
6 8 8 8 6 10
3 4 4 4 3 5
Vv Vv T
o ( 12015 - 10 - 15)



